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1. >�C��

1.1   
3���	�����%� 15 �  .@��$� 24 
3�
1.2   
���	0��
1.3   �����$�1�����'#3�����*2�%+
��	 1 ��7$
1.4   !��/�������#���"�3
1.5   
��4'�
� "�3'�
� "�34�����
1.6   "/����#�
��	A
1.7   �3���$4�	
1.8   !3$%���#
�

1.9  !�	
����:
10.10   ��

�'���
10.11   !�	���#��'���
10.12   �����$�1�����'#3�����*2�%+
��	 3 ��7$ .@��$� 12 ���
10.13   !�	
����:�##@�/��4'
H4
�$�%��	���
10.14   
����:
�$
10.15   ���%�#�	/��$%����	 ����$�
10.16   
�
�3��#�����	���
10.17   #��'���

���%'�H�#2
� 15 -15 -15, 8 -24 -24 ��� 13 -13 -21
���%��	�4#2
� 16 -12 -0 (�2
����#'�H�), 7 -13 -34 + 12.5 Zn (�2
����#
12'���+'�)
#��'�������#��-������	���%6�������	�4 ('
����+4�'�H� 86)
#��.�4�4
#������%01'��%�"����
"1�+ ('�3��3� 0.1 ���+���)
#������%� �������� ('�3��3� 1 '���+'1H�
+)
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10.19   $�#��'��(��	�
3$ (�����$
��� 7)
4�$'�

�I'�

"�0���I'�

4�
'
��+
�$��2�)��2�
�$����4�����
�
/�������	

2. ������@
2.1   '��(��	$��
��)�
�@�
���I�'�I���
�4 (Porometer) ���� AP4 ��	 Delta-T, UK
2.2   '��(��	$��*�
%+��	�7@����4 (Pressure Chamber) ��	 PMS, USA
2.3   '��(��	$���������$��'�3��#	 (Light Meter Quantum Sensor)
2.4   '��(��	$���$��)(7������ (Soil Moisture gauge) ���� 4300 ��	 Troxler, USA
2.5   '��(��	$����������	��H	�������%���7@�"�3 (Hand Refractometor) ���� Atago Nl
2.6   '��(��	$���$������'�(7� (Firmness Tester)
2.7   '��(��	)��	�7@�/��
"���� 600 
���
2.8   '��(��	$���(7�����4����$��%�$��
��%�
30���
�� DIAS Root Length
2.9   '��(��	'.��'
H4
�$�%��	���
2.10   '��(��	6��������%��	�4
2.11   
23�4
2.12   '$��+'��%�+
2.13   '��(��	'
H4'
��%$����	��� (�����$
��� 6)
2.14   ���
��+!��%���
2.15   '�H���*
2.16   )���	 ���.�4
������
��+�#�	��%��'��%��������$
��� 4 ��� 7
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3. >
?
���
 3.1  
��'
��%�
3���	���

�@�
��*9
:���#$���	�����	'
:
�
� ��
@�4���/	#+  �@�'��/���/;� .�	/$��
#	��� �����
���/3�7@��3$%��44#���	'
��+ ���������#���	'
��+ 0�%�)3
3���	�����%� 15 �  ��7	/�� 
24 
3� 19�	'�8�
3����"�3��4
��"$3��������4
��	A ����3$���  �.*. 2547 ���@�
��*9
:�
��/��	
.�
���'
H4'
��%$�����
��3$ 0�%�@�
��
���
�	
��	����/3���%��	���#2
� 15 -15 -15, 8 -24 -24 ��
��
�� 1 
�0�
���
��
3� ������%��	�4#2
� 16 -12 -0 (�2
����#'�H�) + '
��+���+ + #��.�4�4 
���
��
��
 .�
��7��/3���%��	���#2
� 13 -13 -21����
�� 1 
�0�
���
��
3� ������%��	�4#2
� 7-13 -
34 +12.5Zn (�2
����#1��'���+'�) + '
��+���+ + #��.�4�4 /��	
��
���� $�	���
������	
�44 completely randomized design (CRD) �@��$� 6 17@� (1 
3� / 1 17@�) 0�%�/3
��"$3������4

��	A '�8�#��	����	����7	/�� 4 #��	����	 ��	��7

#��	����	��� 1.  T1 ("$3�� < 500 ��
��
3�)
#��	����	��� 2.  T2 ("$3�� 501-1000 ��
��
3�)
#��	����	��� 3.  T3 ("$3�� 1001-1500 ��
��
3�)
#��	����	��� 4.  T4 ("$3�� >1500 ��
��
3�)

3.2  ��7�
��
��'
H4�3��2����'
H4
�$�%��	
3.2.1 4���9
�3��2��(7�G����	
3���	�����#$� ����@�
������	
�7	�
�)�$	
��

��{������%�
��	A .�!9	��%�/��	
��'
H4'
��%$�����
 ���
�4�3$% $����
��
 $����
4�� 
$��
���� )�$	
����{����	�� )�$	'
H4'
��%$�����
 $���

�4����

3.2.2 �3��2�#�����
�* �  2547-�  2548 ��	
@�4���/	#+ �@�'��/���/;� 
.�	/$��#	��� .�
#!�����
�*'
:
���/	#+ ��*2�%+$�.�%%�	#	��� 
@�4���/	#+ �@�'��/���/;� 
.�	/$��#	��� 19�	�%2�/��	.�
#!������@�
������	������ 3 
�0�'�
� ���
�4�3$% �������7@�
y� 
����'/%��	�7@� ���/�2��#2	#��'6���% ������/�2��
�@�#��'6���% �@�������"�3��'��%�'�8�
���
�#�	�$��#�����-+ ��/$��	#����2����
�* ���
��'.��;'
�40
��	
3���	��������	����	

3.2.3 *9
:�
����$	��	��
��������� (�����$
��� 1) 0�%�@�
����4.@��$�
��
 ���.@��$��������$	
�7	�
�#����/+��� 1-14 /��	��
4�� ��'�(��
�������-+ 2548 .�!9	��
/%����$	��'�(���x:���� 2548 '�(��*9
:��$���


��	��	
����$	��	��
��	��������
��"$3��
�


��	
�� ���'�8��3��2�����)3���'�8�'���+'1H�
+
��
���� �$���%�'$��
��'
H4�3��2� 14 
#����/+
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3.2.4 *9
:�
��'.��;'
�40
��	�� $��
��'.��;'
�40
��	����	��� 0�%�4�	��	
������	��	�����
'�8� 4 ��* ���
�4�3$% ��*'/�(� ��*�
3 ��*
�$����
 �����*
�$��

 �@�'��(��	
/��%��*�3$%
����:
�$#����
��	
�� ���
�����*�4�	��	������
'�8� 3 #�$��(� #�$�4� #�$�

��	 ���#�$����	��	��	���� �@�
��$���$��
$3�	 ����$��%�$��	������
��*��	��	���� ��*
�� 10 �� $��������	����
#����/+ 0�%'����$��������	��
�7	�
�#����/+��� 1 ��	
��'.��;'
�4
0
��	�� .�!9	#����/+��� 14 ��	
��'.��;'
�40
��	��

3.2.5 *9
:��$��/��������	��
 ��)�$	
��	��	
����{���� 0�%�)3#$���
'.����� '.��'
H4
�$�%��	����������4�$���9
 20, 40 ��� 60 '1�
�'�
� 4��'$�
��	��	���� 0�%$�-� 
core sampling �@�������"�3���%
'����
��
 ��3$�3�	�@��$��#�����9�	����/3�/3	 (�����$
    
��� 3) �@���$���$��%�$��
 0�%�)30���
��#@�'�H..�
'��(��	$���(7�����4 ���'��(��	$���$��%�$��
 
��%�
30����
�� DIAS Root Length �����
�� calibrate '��(��	$���3$%$�
!�������4����$��%�$.��	 
�@�������"�3���@��$�/��$��/��������
0�%'��%4
�4�����
�#$���'.��'
H4
�$�%��	��� ������4
����$��%�$��
���"�3�/3'�8�/��$%�$��/��������
 0�%����$��%�$��

�������
���� 
('1�
�'�
�/1000�������
�) �@�����$��/��������
���"�3���#�	'�8�
���'�(��'���%4'��%4��    
�
���#��	����	

3.2.6 *9
:�
��
�4#��	��	#���$��%� ��	
3���	�����)�$	���%��	
����{��
�� 
�7	�
�#����/+��� 10-13 /��	��
4�� �$���%�'$�� 4 #����/+ $��#����/+�� 1 ���7	 0�%�)3
'��(��	�(�$��
��
�4#��	��	#���$��%���	��7�(�

3.2.6.1 *�
%+��	�7@����4 �)3'��(��	$��*�
%+��	�7@����4 (pressure chamber) 
0�%#���'�(�
�4'�#��� 3 �4
��
3� (�����$
��� 5) #���'�(�
�4����#	#��	!9	4��'$� 4� 
��	 ���
���	��	��	���� 
���4���#�������$�������	'��(��	�(� �/3
3���40���4��'$��2�2
%�	������y��I�
����$����� �)3��	���.�
�
�#"�0
�'.� #�	'

�7@����!2
�����
����	
3�����4���9
�3��2� 0�%
�@�
��$���3��2�����4$����
 2 )��$0�	 
�7	�
�'$�� 8:00 �.10:00 �.12:00 �. 14:00 �. ���'$�� 
16:00 �. �@��3��2�����4$�����$��"�3��/����'6���% ����#�	'�8�
���'�(��'���%4'��%4���
���  
#��	����	

3.2.6.2 
��)�
�@�
��'�I���
�4 �)3'��(��	$��
��)�
�@�
��'�I���
�4 
(porometer) 
����@�
��$��
3�	���4�����
�G����	'��(��	�(�
�4�������4�����
�G�� �/3���
�$������'��(���"��'
�� 10 '���+'1H�
+ '�(��$���3��2��@�
��'�(�
�4'�#��� 3 �4
��
3� (���
��$
��� 5) '�(�
�4����#	#��	!9	4��'$� 4� 
��	 ������	��	��	���� �@�
��$���3��2�����4$��
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��
 2 )��$0�	 
�7	�
�'$�� 8:00 �. 10:00 �.12:00 �.14:00 �. ���'$�� 16:00 �. �@��3��2�����4$��
���$��"�3��/����'6���% ���'��%�'�8�
���'�(��'���%4'��%4���
���#��	����	

3.2.6.3 �$��)(7���� �)3'��(��	$���$��)(7���� (soil moisture gauge ���� 4300, 
Troxler, U.S.A.) �@�
��'.�����4��'$��
3��	�����9
�	"� 80 '1�
�'�
� ��3$y�	��� PVC ���� 3 
��7$ %�$ 1 '�
� �I�y���7	 2 �3�� 0�%�/3y��3�����0����3����%�$������ 20 '1�
�'�
� 19�	#����!
'�I�y�"�3 '�(���@�
��$���)3'��(��	�(�$���$��)(7����
�7	4���� PVC /%���/�$ Probe �	"������'�(��
$���$��)(7���� $���������4�$���9
 20, 40 ��� 60 '1�
�'�
� ��)�$	'$�� 8:00 �.���'$��16:00 
�. 0�%�@�������"�3.�
'��(��	��#�3�	#�
��#�����-+��/$��	������"�3.�
'��(��	
�4����$��)(7����.��	 
0�%����$��)(7����.��	/�"�3.�

��#���'
H4
�$�%��	���������4�$���9
 20, 40 ���60 '1�
�'�
� 
��)��	�7@�/��
#� .�
��7��@�"��4������/�2�� 106 �	*�'1�'1�%# '�8�'$�� 24 )��	0�	 ���)��	�7@�/��

�/3	 �@��3��2��7@�/��
#��4�7@�/��
�/3	.�"�3����$��)(7����.��	 �@�������$��"�3.�
'��(��	 ��'�3�#�

��'�(��/�
��'����%����	�$��)(7���� ��)�$	'$�� 8:00 �. ���16:00 �. ����#�	'�8�
���'�(��
'���%4'��%4���
���#��	����	

3.2.6.4 �������$��'�3��#	 �)3'��(��	$���$��'�3��#	 (light meter 
quantum sensor) $���$��'�3��#	��)�$	����@�
������	 ����4$����
 2 )��$0�	 
�7	�
�'$��    
8:00 �. 10:00 �. 12:00 �. 14:00 �. ���16:00�. �@��3��2�����4$�����$��"�3��/����'6���% ���
�#�	'�8�
���'�(��'���%4'��%4�������$��'�3��#	�
���#����/+ ����)3'�8��3��2����
�4��

�����'���
��
�4#��	��	#���$��%����$��"�3.�
'��(��	�(�

3.2.7 *9
:�'���+'1H�
+
��
����4�
3� �@�
����4.@��$�
��
����4�
3�0�%�)3
0��	�2
4�*
+ (cubic frame) ����������
� 0.125 �2
4�*
+'�
� (
$3�	 0.50 '�
� x %�$ 0.50 '�
� x 
#2	 0.50 '�
�) #�����4.@��$�����	�����4��	���� ��7	#�$�4� #�$�
��	 ���#�$����	��	��	���� 
8 .��
��
3� (�����$
��� 9) �@�������"�3��'���%4'��%4
�4�����
���	��	���� '�(�����4.@��$�
��

�������
���#��	����	 ������'�8�'���+'1H�
+
��
������	��7

'���+'1H�
+
��
����  =                                                              x 100

3.2.8 *9
:�#��#�$���	.@��$��4
��.@��$��� #�����4.@��$��4���.@��$���

��
3���	�����4��	���� ��7	#�$�4� #�$�
��	 ���#�$����	��	��	���� 8 .��
��
3� ��4.@��$��4
�������0��	�2
4�*
+ (�����$
��� 9) #���$������
#��	����	 ����@���/����'6���%'�(�����4���
#��#�$���	.@��$��4
��.@��$���

�� � � � �

� � �	

�� � � � �

� � 
 ��7	/��
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3.2.9 4���9
�����������

��
3����'
H4'
��%$"�3���
������7	 �@�����	������'
H4
'
��%$"�3���
������7	��)��	�7@�/��
 ���4���9
�3��2�
���4��.��#�
���	0��
��
����
 .�
#$�
��	'
:
�
���%�	/3�	���4�
�
�� '
H4��
:�����	���"$3��/3�	�@��$��'%H����/�2�� 13 �	*�
'1�'1�%# (�����$
���8) ���#���
�$�%��	����	������'
H4'
��%$"�3��7	 4 ���7	 .@��$� 10 ��
��
3�
��
17@�  '�(��$�'����/+�������� ���
��
��.�%
�$��	������

3.2.10 *9
:�
��
����'$3��  �@������
��	��	������"�3.�
�  2547 ����  2548 ��
�@��$�/���)��
��
����'$3��  (alternate bearing index: ABI) ��	��7

��)��
��
����'$3��    =           x 100

3.2.11 
��$�'����/+�������� #�����	���.�
��
#��	����	 #��	����	�� 10 �� 
�@���$�'����/+�������� ��
��'
H4�3��2���	��7

3.2.11.1 '#3�����*2�%+
��	�� (�����'�
�) $��'#3����*2�%+
��	��	����	���
�3$%'$��+'��%�+ �@��3��2����"�3��/����'6���%���
���#��	����	

3.2.11.2 �7@�/��
'6���%
���� (
���) )��	�7@�/��
���3$%'��(��	)��	�7@�/��
"�
��� �*��%� 2 
@��/��	 �@��3��2����"�3��/����'6���%���
���#��	����	

3.2.11.3 �$��/��'��(�
 (�����'�
�) $���$��/����	'��(�
��	����3$%
'$��+'��%�+ /��	.�
�������	���
����$��� 0�%$���$��/��'��(�
��#�$���	'��(�
�����'�(7���
�/;����#�� �@��3��2����"�3��/����'6���%���
���#��	����	

3.2.11.4 �$������'�(7� (��$
��) $���$��/������/��	�������3$ $��#�$�
��	'�(7�������/;����#�� 0�%�)3'��(��	$���$��/������'�(7� �@��3��2����"�3��/����'6���%���
���#��	
����	

3.2.11.5 ��������	��H	�������%�7@�"�3 ( total soluble solid ) �@��������
�����7��7@��3$%�3���$4�	 �@��7@������7�"�3"�$����������	��H	�������%�7@�"�3 0�%�)3 '��(��	$��
��������	��H	�������%�7@�"�3 ���� Atago N1 ������$��"�3��/��$%'�8��	*�4��
1+ (0brix) �@��3��2����
"�3��/����'6���%���
���#��	����	

3.2.11.6 ������
�����"�'��
"�3 ( titratable acidity ) "�'��
�7@���7���	���
�3$%#������% NaOH �$��'�3��3� 0.1 N �)3#������% phenolphthalein �$��'�3��3� 0.1 
'���+'1H�
+ '�8� indicator �@��3��2����"�3���@��$�/�������
�����"�'��
"�3��	��7

(�����
� ���1- �����
� ��� 2)
(�����
� ���1+ �����
� ��� 2)
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'���+'1H�
+
�����"�'��
"�3 =                                                                                                x 100

0�%��� N base = �$��'�3��3� (normality) ��	#������%���	��
�G��
            �������
� base = .@��$��������
���	#������%���	��
�G��
            Meq.wt. ��	
��1�
��
 = 0.06404

�@��3��2����"�3��/����'6���%���
���#��	����	
3.2.11.7 
��/�'���+'1H�
+�7@���'��(�
 �@���	�����)��	�7@�/��
#� ��3$�@�

"��4������/�2�� 80 �	*�'1�'1�%# '�8�'$�� 4 $�� .�
��7��@���)��	�7@�/��
�/3	 ��3$�@��$�/�
'���+'1H�
+��	�7@���'��(�


'���+'1H�
+��	�7@���'��(�
  =                                                                        x 100

�@��3��2����"�3��/����'6���%���
���#��	����	
3.2.11.8 
��/�'���+'1H�
+�7@���'�(7��� 0�%�@�'�(7�����	����#���/���

����	����'�H
���)��	�7@�/��
/�����3$ ��)��	�7@�/��
#���3$�@�"��4������/�2�� 80 �	*�'1�'1�%# 
'�8�'$�� 4 $�� ��3$�@���)��	�7@�/��
�/3	 ����@��$�/�'���+'1H�
+�7@���'�(7�����	��7

'���+'1H�
+��	�7@���'�(7��� =                                                             x 100

�@��3��2����"�3��/����'6���%���
���#��	����	
3.2.11.9 
��
��.�%
�$��	�7@�/��
����	��� 0�%�4�	'�8�
����
������

��	�7@�/��
�� ���$��!����	�7@�/��
��)�7��� 10 
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3.2.12.1 *9
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3� �4 ���
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�7	�
�'�(��
����� 2547 !9	'�(��
��%�%� 2548 0�%�4�	��	������
'�8� 2 �3�� �(� �3����*'/�(� 
50 '���+'1H�
+ ����3����*�
3 50'���+'1H�
+ ���
�����*�4�	��	������
'�8� 2 #�$� �(� #�$�4� 
25 '���+'1H�
+ ���#�$����	 25 '���+'1H�
+ �$�'���+'1H�
+��7	��	���� 100 '���+'1H�
+ �@�
��*9
:�

���

�4����0�%
���/3����� .�4���9
�3��2�
���

�4������
#����/+ ��4
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�
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3.2.13 $�'����/+��
������	0�%�)30���
����	#!�
� ���'���%4'��%4���'6���% 
0�%$�-� Least Significant Difference (LSD)


